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Find Key k

Begin by finding the key k Like ordinary BST

Walk down in the tree to the node with
key K OR reach a nullpts

X Node where the searchended whether
succeeded or not

Splay X up thetree through a sequence
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X is a childof the root

89
AID ME ITEy

80
o

188 a

688
I 8



I Q 880
8488

Depth 4

A node initially at depth d from the access

patron the root Fox X to the
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Insert new entry K BST

Splay the new node to the root

Remove key k
A node having key k is removed fromthe tree as with ordinary BST

Let X be the node removed from the

tree Splay X s parent to the root
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